Unit 3 Life on Earth        
          Topic 2 Energy In Ecosystems
                                   National 5

Homework 1
1. The diagram gives some information about a woodland in southern Scotland.

Answer the following using information from the diagram.
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(i) Name one producer and one consumer.

Producer ______________

Consumer ______________
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(ii) What do the arrows in the diagram represent?
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(iii) 
Which part of the oak tree provides energy for the greatest number of different species?
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2. The diagram shows a food web from a moorland ecosystem.
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(a) Which plant provides energy for the greatest number of different species in this food web?





PS1

(b) Give two ways in which energy can be lost from this food web. 

1.________________
2. _______________
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3. A food chain from the ocean is shown below. 
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Plankton 

 krill 


blue whale

Which population in the food chain has the smallest biomass?
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4. The diagram below shows the transfer of energy through a food chain in a 

wood.

The numbers represent the units of energy in the different populations of 

 
the food chain.



(i) Complete the table below using information from the diagram.
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(ii) 
4% of the light energy reaching the oak tree is converted into new plant material.

How much energy did the oak tree receive?

Space for calculation

________ units
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5. Plants convert 1% of the light energy they

receive into new plant material.

In the food chain below, primroses receive

l00 000 units of light energy.

Primrose 
 vole 
   weasel 
 owl
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How much of this energy is converted into


new plant material?


A 10 000 units


B 1000 units


C 100 units


D 10 units		
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